.options maxstep=0.02441555u
.options maxstep=0.48831106u

SINE(0 0.9 {freq})
PULSE(-11 0 {t_edge} {t_edge} {1/2/f-t_edge} {1/f}) |
.tran 0 {simtime} {dlytime} {numsampl}
.param rdge 68
.step dec param level list .1.51.3
;0p
;ac dec 100 10 3e6
V(vout)/-V(a)
SINE(0 1 {freq})
;noise vout ac1 dec 10 10 20000
;ac dec 100 10 7e6
.include Cordell models A.txt
;noise V(vout) VIN dec 100 100 20k

.options plotwinsize=0
.options numdgt=

.param dlycyc=10

.param FFT=8192

imtime=(dlycyc+numcyc)/Freq
cyclFreq

param Freq=2k
param numcyc=10

=dly

BC-1 Schematic

R32, 33, 46, 47, 51 not shown. (power supply series R).

€5, C6, C13-C16, C17-C24 not shown (bypass).

_param
four {Freq} V(Vin) V(Vout) V(Vout1)
33

_param Rem 0.
.param Rb1 4.7

.param f = 20k, t_edge=.005u
.param vasl 220k
.param timestep 1m/8192
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